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O HAIOH D1 2A=2H JIY

- Nestlee dAIOtUIA JIE 2 A& ERE= XHKotl U0 M AE2 4%

AXoty AS. =2 AH, =23 H S2 AMEUAN d&E.
<HAIOHS == Aot THOHE>
2 2009 2010 2011 2012
T2 MME(E) 224,112.13 240,537.28 257,926.80 271,232.08
T2 BUHE(E) 271,054.94 290,791.86 319,199.44 337,525.41
1elg =223 Boi (ko) 1.89 2.03 2.23 2.37
SHEDI MAEH(E) 992,429.62 1,032,581.57 1,075,090.98 1,107,616.29
SEIL BOHEH(E) 1,038,733.18 1,084,178.46 1,133,375.69 1,169,771.35
SEHIEXL BHOf (R §) 1,384.84 1,486.00 1,5694.65 1,5690.19

olgt HEIX EHOHK(S) 9.68 10.39 11.16 11.14




